

SHARE INVESTING

MR STEPHEN MALCOLM BIRCH + MRS SHARON TRACEY BIRCH <SHASTE S/F A/C>

29 ROCHESTER WAY

MEADOW SPRINGS WA 6210

Trading Account Statement

Period: 01/07/2019 - 30/06/2020

Trading Account Number: 6611088

Date	Reference	Description	Debit	Credit	Balance
01/07/2019		Open Balance			0.00
15/08/2019	7705486	Bght 5000 PLS @ 0.4800	2,419.95		2,419.95
19/08/2019	7660068	Wdl ANZCIA 012-012 477911717 7705486		2,419.95	0.00
18/02/2020	8828033	Bght 1100 TLS @ 3.7350	4,128.45		4,128.45
20/02/2020	8727521	Wdl ANZCIA 012-012 477911717 8828033		4,128.45	0.00
Total			6,548.400	6,548.400	



MR STEPHEN MALCOLM BIRCH + MRS SHARON TRACEY BIRCH <SHASTE S/F A/C>

Confirmations

Period: 01/07/2019 - 30/06/2020

29 ROCHESTER WAY MEADOW SPRINGS WA 6210

Trading Account Number: 6611088

Code	Confirmation No.	Type	Trade Date	Settlement Date	Price	Quantity	Brokerage	GST	Other fees	Consideration
PLS	7705486	Buy	15/08/2019	19/08/2019	0.480	5000	18.14	1.81	0.00	2,419,95
TLS	8828033	Buy	18/02/2020	20/02/2020	3.735	1100	18.14	1.81	0.00	4.128.45

Generated: 03/07/2020 06:20 PM

TRADE CONFIRMATION

Buy Confirmation

MR STEPHEN MALCOLM BIRCH + MRS SHARON TRACEY BIRCH < SHASTE S/F A/C> 29 Rochester Way MEADOW SPRINGS WA **AUSTRALIA**

FINANCIAL PRODUCT TLS ORDINARY FULLY PAID **ISSUER** TELSTRA CORPORATION.

TRANSACTION DATE 18/02/2020 CONFIRMATION No. 8828033 ACCOUNT No. 6611088 SETTLEMENT DATE 20/02/2020 SETTLEMENT TIME 11:00 am DEALER AWI

AS AT

This is a duplicate copy of your original confirmation and the information provided on this copy may not be as complete as the original already provided to you at the time of the transaction. Refer to your original confirmation for full details, including Terms and Conditions applicable for that transaction.

> PAYMENT FOR THIS CONFIRMATION RECEIVED BY SETTLEMENT TIME WILL AVOID INTEREST CHARGES -SEE TERMS AND CONDITIONS

QUANTITY	PRICE	CONSIDERATION
1100	3.7350	\$4,108.50
1100	3.7350	\$4,108.50
BROKERAGE	\$18.14	
OTHER FEES	\$0.00	
STAMP DUTY	\$0.00	
GST*		\$1.81
AMOUNT DUE AND	\$4,128.45	

^{*} GST (where appropriate) applies to brokerage and miscellaneous charges, excluding stamp duty.



Execution and Settlement Agent:

CMC Markets Stockbroking Limited

ABN 69 081 002 851 Participant of the ASX Group, Chi-X Australia and SSX AFSL No. 246381

PLEASE RETAIN THIS PORTION FOR YOUR RECORDS. E. & O.E.

TRADE CONFIRMATION

Buy Confirmation

MR STEPHEN MALCOLM BIRCH + MRS SHARON TRACEY BIRCH <SHASTE S/F A/C>
29 Rochester Way
MEADOW SPRINGS WA
AUSTRALIA

FINANCIAL PRODUCT PLS ORDINARY FULLY PAID

ISSUER

PILBARA MIN LTD

TRANSACTION DATE 15/08/2019
CONFIRMATION No. 7705486
ACCOUNT No. 6611088
SETTLEMENT DATE 19/08/2019
SETTLEMENT TIME 11:00 am
DEALER AWI

AS AT

This is a duplicate copy of your original confirmation and the information provided on this copy may not be as complete as the original already provided to you at the time of the transaction. Refer to your original confirmation for full details, including Terms and Conditions applicable for that transaction.

PAYMENT FOR THIS CONFIRMATION RECEIVED BY SETTLEMENT TIME WILL AVOID INTEREST CHARGES - SEE TERMS AND CONDITIONS

QUANTITY	PRICE	CONSIDERATION
5000	0.4800	\$2,400.00
5000	0.4800	\$2,400.00
BROKERAGE	\$18.14	
OTHER FEES	\$0.00	
STAMP DUTY	\$0.00	
GST*		\$1.81
AMOUNT DUE AND	\$2,419.95	

^{*} GST (where appropriate) applies to brokerage and miscellaneous charges, excluding stamp duty.



Execution and Settlement Agent:

CMC Markets Stockbroking Limited

ABN 69 081 002 851 Participant of the ASX Group, Chi-X Australia and SSX AFSL No. 246381

PLEASE RETAIN THIS PORTION FOR YOUR RECORDS. E. & O.E.